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TOTAL MARKS : 200

QID : 101 - In the following question, select the related word from the given alternatives.
Pressure : Barometer : : ? : Odometer

frfafea uer 7 Ry 7Q fenedt & @ wefda ez @t gl

34 : argeTaTdt : : ? : et

Options:

1) Humidity
ST

2) Distance

3) Thickness
Herd

4) Wind
ag

Correct Answer: Distance

Candidate Answer: Distance

QID : 102 - In the following question, select the related letters from the given alternatives.
AEDM:ZQRN::FLMO:?
frfafea uer 7 Ry 7Q feredt # @ Tefa s1ert & gfg)

AEDM : ZQRN::FLMO: ?
Options:

1) BZYS

2) CZYS

3) SZYB

4) YZBC

Correct Answer: BZYS

Candidate Answer: [ NOT ANSWERED |

QID : 103 - In the following question, select the related number from the given alternatives.

243:578::163:?
et uer 7 Ry g Rereat & @ Hefda T &t gihgl

243:578::163:?

Options:

1) 291

2) 326

3) 347

4) 443

Correct Answer: 326

Candidate Answer: [ NOT ANSWERED |

QID : 104 - In the following question, select the odd word from the given alternatives.

frfafaa usr & g g et § § v g & gfAg)
Options:

1) Flower

k3

2) Fruit

Thel

3) Leaves

4) Root
NS

Correct Answer: Root
SS

Candidate Answer: Root
SS
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QID : 105 - In the following question, select the odd letters from the given alternatives.

frfafea us 7 Ry 7Q fenedt & @ ww sreri &t gl

Options:
1) CEAC

2) FHDF
3) PRMP

4) TVRT
Correct Answer: PRMP
Candidate Answer: PRMP

QID : 106 - In the following question, select the odd number pair from the given alternatives.

ffafEa usr & Ry e et & @ fowm g gm @t gl
Options:

1) 2132 - 161

2) 2678 - 672

3) 4325-120

4) 6931 - 162

Correct Answer: 2132 - 161

Candidate Answer: [ NOT ANSWERED ]

QID : 107 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Dillydallying
2. Dillydallied
3. Dillydally

4. Dilled

5. Dillydallies

frfeEa 2real ot AreaehieT A 11 aTet 5 & SIgER for |

1. Dillydallying
2. Dillydallied
3. Dillydally

4. Dilled

5. Dillydallies
Options:

1) 42351

2) 42531

3) 45312

4) 45321

Correct Answer: 42531
Candidate Answer: 42531

QID : 108 - In the following question, which one set of letters when sequentially placed at the gaps in the given letter series shall complete it?
Im_o_nm_Il_n__nml
i uw & s1eRi o1 i 1 Tg @ref) T U hAaR 3@ @ & TS S1eR Il Y U1 h?

Im_o_nm_l_n__nml
Options:

1) molnon

2) nolmoo

3) nomloo

4) noolmm

Correct Answer: nolmoo
Candidate Answer: nolmoo

QID : 109 - In the following question, select the missing number from the given series.
21, 25,52, 68,193, ?
frafafea us F Ry e fenedt & @ g ofcs 3 A9l

21, 25, 52, 68,193, ?

Options:

1) 229

2) 242

3) 257

4) 409

Correct Answer: 229

Candidate Answer: [ NOT ANSWERED ]

QID : 110 - Kamal starts walking from his home facing west direction. After walking 10 km he takes a right turn and walks another 10 km. He takes another right turn
and walks 10 km to reach his school. How far (in km) and in which direction is he from his home?

FAA T TR Y UfYH AT 3R @ ek Il SR el &1 10 foh. 7. I & a1g 98 3 ofik gar & ok 10 s, Ieran &1 a8 g: < ok g 10 foh.#h. ofik Ieran & qe srow
g uge SITaT 81 98 SR WR ¥ fhat g R (fh. . #) qur fhg e A 87



Options:

1) 10, North

10, IR

2) 10, South

10,

3) 20, North-East
20, IWR-gd

4) 20, South-West
20, gfaror-ufam
Correct Answer: 10, North
10, IR

Candidate Answer: 10, North
10, 3R

QID : 111 - In a class, P has more marks than Q and R does not have the least marks. S has more marks than T and T has more marks than P, who among them will
have the least marks?

Ueh e A, P o 3ich Q § 31fdeh § IUT R & 3ich 99 i g1 81 S & 3ich T 1 31l qum T & sich P T o1fdes 8, 378 O fohes sich 9ad 7 82
Options:

1)P

2)Q

3)S

49HT

Correct Answer: Q

Candidate Answer: Q

QID : 112 - In the following question, from the given alternative words, select the word which cannot be formed using the letters of the given word.
RECIPROCATE
g g e F, Ffafa feredt & @ 98 2reg g st Ry g 2rea & s1aRy o1 wahT oedh AT ST ST HehdT 81

RECIPROCATE
Options:

1) PROCEED
2) RACE

3) REPEAT

4) TEAR

Correct Answer: PROCEED
Candidate Answer: PROCEED

QID : 113 - In a certain code language, "CASIO" is written as "3119915". How is "CITIZEN" written in that code language?

U fAfre i 9o &, "CASIO" &t "3119915" foRaT ST 1 39 ahte o1 | "CITIZEN" &t fohd UehR forar smaam?
Options:

1) 295629134

2) 3192295614

3) 3912659214

4) 3920926514
Correct Answer: 3920926514
Candidate Answer: 3920926514

QID : 114 - In the following question, correct the equation by interchanging the two signs.
6+17x51+6-12=-4
fFafafad oy A 5= <t udies Rl o IRER e 33 U geftensor &t w8t fifSg)

6+17x51+6-12=-4
Options:

1) x and +

X dgr +

2)+and +

+qur +

3)+and -

+dd1 —

4) - and +

= dar +

Correct Answer: x and +
X dg1 +

Candidate Answer: x and +
X ddgr +

QID:115-1f6*9 -4 =58 and 3 *9 — 7 = 34, then in the expression A * 4 — 9 = 91, what is the value of 'A"?

g 6*9-4=58qur3*9-7=34g, T THTA*4 -9 =91 A & A FT§?



Options:
1)6.5

2)17.5
3)20.5

4) 30.5

Correct Answer: 20.5
Candidate Answer: 20.5
QID:116-

In the following question, select the number which
can be placed at the sign of question mark (?) from
the given alternatives.

T uy & Gr o faweut & ¥ wy =g
(?) & TUS W A A T F g

6 9 3
[5]93|7] [8]65]7] [7]63]6]
9 6 5
Options:
1)4
2)6
3)8
4)16

Correct Answer: 4
Candidate Answer: [ NOT ANSWERED |

QID:117 -
How many triangles are there in the given figure?

A & o s @ Ree Ragst &7
e
/

\

."l e

/

L/

Options:
1)4

2)5
3)6

47
Correct Answer: 6
Candidate Answer: 6



QID : 118 - In the following question below are given some statements followed by some conclusions. Taking the given statements to be true even if they seem to be
at variance from comonly known facts, read all the conclusions and then decide which of the given conclusion logically follows the given statements.

Statements:

I. Some staplers are pins.
II. All pins are markers.

Conclusions:

I. Some staplers are markers.
1. All markers are pins.

12 g T st A o e ofR I I1% I el R SR g ey g Ty €, gTerifer 3T wrrr I1d aeat @ e gt wedt g1 9t ey ug ofk fiR freifa R R Ry g @
@ e, faw g el & SR TR g &

hY:

|. 3 RueR oA 81
1. goft o mrd= &)

forsepe:

. B RUR AT &
1. Foft Ak O 81

Options:

1) Only conclusion (1) follows.

e ey (1) I8 81

2) Only conclusion (Il) follows.

e ey (1) Te 81

3) Neither conclusion (I) nor conclusion (Il) follows.
Tt frsendf (1) 8z 71 8 Fsanef (11) @it 21

4) Both conclusions follow.

ST & foreeny el &1

Correct Answer: Only conclusion (1) follows.

et et (1) &t 81

Candidate Answer: Only conclusion (I) follows.

et e (1) @8l 81

QID:119-
Two positions of a cube are shown below. What will
come opposite to face containing ‘4’7

#=r T ud &Y 31 gEanT AT R §1 35 4
F foula woe W FiF |1 3F 3mee

o e

F 6 > F"S,

ﬂ 1] |4 2/]
o ,.~"’. \ P

Options:

1)1

2)2

3)3

4)6

Correct Answer: 1
Candidate Answer: 1

QID : 120 - Identify the diagram that best represents the relationship among the given classes.
Green, Mango, Fruits
I8 o g st A7 g e o & offer & Teier o wdt g e 1

BYl, A, thel



Options:
1

Correct Answer:

@

Candidate Answer:

QID:121-

Which answer figure will complete the pattern in the
guestion figure?

Pl B IR I’PA T FFIa & TawT & g
FHfre




Options:
1)

(o)
.
.
2)
[ ]
.
3)
]
.
0)
4)
.
.
(o]
Correct Answer:
®
.
(o]
Candidate Answer:
.
.
(0]
QiD:122-

From the given answer figures, select the one in
which the question figure is hidden/embedded.

& % 3 A # A W = A & gaw
Tm & ur sl BfRT ®

A\




Options:
1

N
~

> B B> B>

w
~

'S
=

Correct Answer:

>

Candidate Answer:

>

QID:123-
A piece of paper is folded and punched as shown
below in the question figures. From the given
answer figures, indicate how it will appear when
opened?

@ & uH pfadr A fGEm FgER @R @
ATZHRT B OUT Widdd & g I g IaT Hpla
s e gam?

D= o




Options:
1

Correct Answer:

O
o O
o]

Candidate Answer:

o
o O
o]

QID: 124 -
If a mirror is placed on the line AB, then which of

the answer figure is the right image of the given
figure?

iy v gdur & AB @ W @ AW, & & e
TR AT # @ FF O ety uw gl &
g ufafesa @efre

>

T -

w



Options:
1)

4

"

E é w
e
Correct Answer:
4]

3 & w
e
Candidate Answer:

N
3w
S

QID:125-

A word i1s represented by only one set of numbers as given in any one of the
alternatives. The sets of numbers given in the alternatives are represented by
two classes of alphabets as shown in the given two matrices. The columns and
rows of Matrix- are numbered from 0 to 4 and that of Matrix-ll are numbered
from 5 to 9. A letter from these matrices can be represented first by its row and
next by its column, for example, “A’ can be represented by 20, 43, etc., and ‘U”
can be represented by 68, 87, etc. Similarly, you have to identify the set for the
word “GUIDE™.

TE %G hael U GEATOAE el g T ¥ Ser O Gweut & & e
v F Bar wan §) fwedt & Re v dom-uap #ed & & anl g/ griv
T §, ot T oA BU aw g segl A § I & TaeH iR ufm #
HEAT 0 4 &1 7% &, T I=gpll 1 5 9] 57 HIE € U HEW @ ued
s ufh 3 A # Taew dear gr e T ¥ serer & v A @
20, 43, WG W7 gufET o1 &FHaT € 9UT ‘U 68, 87, G N gxifm S
DT ¥ T T9E O HIUE wA A BU 9w g “GUIDE” & o weE
TR §

Matrix-l Matrix-Il

-l Il
oj1]2(34 5|6|7(|8(9
O|G|L|A|R|E 5|B(U[I|L|D
1|LIA|R|E|G 6|L|D[B|U|I
2|A|R|E|G]|L 7/ull|L|D|B
3|IR|E[G|L|[A 8|D|BlU|T|L
4|E|G|L|A|R gli|L|{D({B|U

Options:
1) 00, 68, 95, 58, 04

2) 14,75, 88,87, 40
3) 23,99, 76,78, 31

4) 41,87,57,66,12



Correct Answer: 23,99, 76, 78, 31
Candidate Answer: 23, 99, 76, 78, 31

QID : 126 - In which market form, a market or industry is dominated by a few firms?

R URR I ITSTR SAEAT H, FTSIR S7aT e IR O o1 [achalell T a9 giaT 82

Options:

1) Perfect Competition
quf waf

2) Monopoly

TehTfIehR

3) Oligopoly

ITARR

4) Monopolistic

Correct Answer: Oligopoly

Candidate Answer: Oligopoly
ITIRR

QID : 127 - Which amongst the following is not a component of monetary policy in India?

fRfafea & @ o ar ara § ffgs NS o gew T8 82

Options:
1) Repo rate
Wt e

2) Moral suasion

3) Credit Rationing
hise AT

4) Public Debt
Hrstten FoT

Correct Answer: Public Debt
FOT

Candidate Answer: Public Debt
T

QID : 128 - Who among the following is not a member of any of the two houses of our country?

Al & & o gAR a1 & a1 7 & foret +ft Fe o1 dewg 81 gtar 87
Options:

1) Prime Minister

T #

2) Finance Minister

3) President

4) Railway Minister

Yora Y

Correct Answer: President

Candidate Answer: President

QID : 129 - Which article of Indian constitution has the provision for National Emergency?

TR TfA & fohe ST H SHTUTAhTe T UTaeT 82
Options:

1) Article 350

31gee 350

2) Article 352

3¢ 352

3) Article 312

3% 312

4) Article 280

e 280

Correct Answer: Article 352
3rgeae 352

Candidate Answer: Article 352
3geg 352

QID : 130 - Who led the Bardoli Satyagraha movement?

IRSIt HATIE SHTelerT T Aged fora fomar ar?
Options:

1) Mahatma Gandhi

TgTeHT ieft

2) Rabindra Nath Tagore

3fers ATy &R

3) Sardar Vallabhbhai Patel

RER JeANHTS Tt

4) Chittaranjan Das

[ESIEE KA



Correct Answer: Sardar Vallabhbhai Patel
TR TeeTHHTE geed

Candidate Answer: Sardar Vallabhbhai Patel
TER oS Ueel

QID : 131 - Who is known as the 'Father of Indian Unrest'?

'R 3T o T foheg ahgl STrar 87

Options:

1) Anant Singh
i g

2) Bal Gangadhar Tilak
TeT LR

3) Bhagat Singh

Td R

4) Dadabhai Naoroji
HEUIEEINE)

Correct Answer: Bal Gangadhar Tilak
1 TMTER faeten

Candidate Answer: Bal Gangadhar Tilak
TeT TMER

QID : 132 - Which of the following region is covered by tropical evergreen forest?

rAfefea & @ o 91 & Sy FeegR a9 § et g 8?2

Options:

1) Eastern Ghat
Peileirs

2) Vindhyanchal
[EEC]

3) Aravalli
SRTET

4) Western Ghat
gfayft are

Correct Answer: Western Ghat
ufgyet are

Candidate Answer: [ NOT ANSWERED ]

QID : 133 - The final boundary between the Earth and the outer space is called .

et T aTgT SfaRer & ff sifaH @ ____ st 1

Options:
1) magnetosphere
AR

2) ionosphere
3T Hedl

3) mesopause
A

4) magnetopause
AU

Correct Answer: magnetopause

Candidate Answer: ionosphere
3T Hed

QID : 134 - What is the name of the hormone produced by thymus gland?

Argag Ui grT fAfda gt &1 @ A 82
Options:

1) Thyroxine
ARRITRA

2) Auxins
Siferra

3) Cytokinins
argafr=
4) Thymosin
AR

Correct Answer: Thymosin

Candidate Answer: Thyroxine

QID : 135 - Photosynthesis takes place in the presence of chlorophyll and
TGhTRT TRATOT AR fOheT T Hr ufRafa A gar &



Options:
1) water

2) nutrients
Iy 9
3) carbon-dioxide
IS ATGAZS
4) sunlight
Sekcagcary
Correct Answer: sunlight
G T TRIT

Candidate Answer: sunlight
Gecogecaty

QID : 136 - Which blood group is universal acceptor?

I AT THIg ArdeifAes Wierdf 82

Options:
1) O+

2)0-
3) AB-

4) AB+
Correct Answer: AB+
Candidate Answer: AB+

QID : 137 - If objects appear enlarged and inverted in a rear view mirror, then which type of mirror is used?

I Uy 3@ aret U F avqu It auT It feward &t 8, ot foher e & gfor @t v ok T 82

Options:
1) Concave
3fqdel

2) Convex
el

3) Cylindrical
EREICON

4) Plane
TRasff

Correct Answer: Concave
3rgddt

Candidate Answer: Convex
3T

QID : 138 - Soap bubble attains spherical shape due to .

TG ol eAgeT S THROT TATRR T T AT &1
Options:

1) inertia

Sigd

2) pressure

2T

3) surface tension

PEKEICE

4) Viscosity

qHEAr

Correct Answer: surface tension
PLEGEICE

Candidate Answer: surface tension
PEKEICE

QID : 139 - CAD stands for 4

Hod oA 2

Options:
1) Common Aided Design
o

2) Computer Aided Design

HR Vee feemgT
3) Complex Aided Design
HEY tes o

4) Communication Aided Design
FHRIAIRA

Correct Answer: Computer Aided Design
T

Candidate Answer: Computer Aided Design

e e fEsme

QID : 140 - Which of the following is a characteristic of an exothermic reaction?

Frfafad & @ otw df geAradt ufafehar & fastear 82



Options:

1) Release of heat

ISHT T IToTT

2) Absorption of heat

ISHT T TR

3) Doesn't involve any change in temperature
A # g aRad T8t

4) None of the option is correct

s off Ry ot 781 @

Correct Answer: Release of heat
AT T IS

Candidate Answer: Release of heat
JSAT <hl

QID : 141 - What is the chemical formula for Sodium Chloride (Salt)?

HIFETH FARTES (FHR) T TTTIfIeh T T 82
Options:

1) NaCl,

2) NaCl

3) Na,Cl

4) Na,C

Correct Answer: NaCl

Candidate Answer: NaCl

QID : 142 - Which of the following gas contributes the maximum to the phenomena of global warming?

ST AT (Teftere anfeiT) Y g & T 1fdes avTer fohe A AT 82

Options:
1) Methane
EIDE]

2) Chlorofluorocarbon (CFC)

FARIGARIAET (Tgme)

3) Nitrogen dioxide
SECIcEIES

4) Carbon dioxide

P SEHTFES

Correct Answer: Carbon dioxide
FIE SFIHTFATS

CandidatevAnswer: Carbon dioxide
e SEHTFATES

QID : 143 - Who selects the Social Audit Committee under MGNREGA scheme?

HARA IS & Sl ATToes Sicharor QAT &l gA1a i oheal 87
Options:
1) Chief Minister

2) Gram Sabha
UTH AT

3) Mayor
R

4)B.D.0.
1. 3. o

Correct Answer: Gram Sabha
T 9T

Candidate Answer: [ NOT ANSWERED |

QID : 144 - Which of the following was invented by Sir Humphry Davy?

ffafEa & @ fhaer sifawsr ‘o= gaht St 7 frar ar?
Options:

1) Safety Pin

I o

2) Steam Engine
Y <hT ST

3) Safety Lamp
It A

4) X-Rays

TR

Correct Answer: Safety Lamp
Ut

Candidate Answer: Safety Pin
Juet i

QID : 145 - Who has won the 2016 Men's Single title at US Open?

Q9. 3T 2016 & I & H GoheT RAdTe foher Sfiar 87



Options:
1) Novak Djokovic
FaTen Stenttaa

2) Rafael Nadal
et TS

3) Stan Wawrinka

W arafi=ar

4) Andy Murray

i RoEd

Correct Answer: Stan Wawrinka

Candidate Answer: [ NOT ANSWERED |

QID : 146 -
Match the following.

IGEGIGICRECIRE: CIn G

Dancer / =TTt Dance / I

1. Radha Reddy a. Bharatnatyam
e IR T

2. Padma Subrahmanyam b. Kathak
U GAHOTH FHUF

3. Sitara Devi c. Kuchipudi

fram & SergS

Options:
1) 1-b, 2-3, 3-c

2) 1-c, 2-b, 3-a
3) 1-c, 2-3,3-b

4) 1-a, 2-c, 3-b
Correct Answer: 1-c, 2-3, 3-b
Candidate Answer: [ NOT ANSWERED ]

QID : 147 - Who has recently been awarded with Nobel Prize for peace in 2016?

BTeT &1 #, 2016 a1 M= o foig Teet qRenr e feam mar 82
Options:

1) Juan Manuel Santos

§OTH e WidE

2) Henry Dunant

378 o

gid
3) Kailash Satyarthi
Sherer gt

4) Malala Yousefzai

HelTelT

Correct Answer: Juan Manuel Santos
§H AQd Fie

Candidate Answer: Kailash Satyarthi
Sherer geareft

QID : 148 - Which of the following is a book written by Shashi Tharoor?

frfafad & @ o o gee A o gri foredt meft 87

Options:

1) It's Not About You
3 Ale ST g,

2) Invisible People
FfafSae fiae

3) An Era of Darkness

T O ST Shag

4) Democrats and Dissenters
SHlched TU8

Correct Answer: An Era of Darkness
LERREEIN

Candidate Answer: Democrats and Dissenters
SHlched TUs

QID : 149 - With which country India has recently decided to partner with for strategic storage of crude oil in southern India?

YR 7 8Tt &t A foha 321 & 1y fAeran? &féor wRa & sved et o YA SR 9 &t Shaget foram 82



Options:
1) Iran

2) Iraq

RH

3) United Arab Emirates

TY<h 3RS

4) United States of America

TYh AT IARHT

Correct Answer: United Arab Emirates
TGeh IR SHRIT

Candidate Answer: [ NOT ANSWERED |

QID : 150 - Which neighbouring country of India is also reffered as 'Druk Yul'?

IR o fohd TSIt 321 @l 'gon gt & oft e foram simar 872
Options:

1) Myanmar

RAR

2) Maldives

ATEE

3) Bhutan

qeH
4) Afghanistan
SR

Correct Answer: Bhutan

g
Candidate Answer: [ NOT ANSWERED |

QID : 151 - How many numbers are there between 1 to 200 which are divisible by 3 but not by 7?

19 200 & i At et T &, Sit 3 @ at S gidt & e 7 § 727
Options:

1) 38

2) 45

3) 57

4) 66

Correct Answer: 57

Candidate Answer: [ NOT ANSWERED |

QID : 152 - 10 women can do a piece of work in 6 days, 6 men can do same work in 5 days and 8 children can do it in 10 days. What is the ratio of the efficiency of a
woman, a man and a child respectively?

10 wfgeTy foret e et 6 feT # gRT e HepelT §, 6 T30 ST &hd &t 5 AT A QRT X Fehdl 6 T 8 S ST ahrd &bt 10 AT H U1 = Wehet &1 SHALT: Qe AfgeT, Ueh YN T Ueh aed) el
ST T ST T &7

Options:

1)4:6:3

2)4:5:3
3)2:4:3

4)4:8:3
Correct Answer: 4:8:3
Candidate Answer: [ NOT ANSWERED |

QID : 153 - The ratio of the volume of two cylinders is 7 : 3 and the ratio of their heights is 7 : 9. If the area of the base of the second cylinder is 154 cm?, then what
will be the radius (in cm) of the first cylinder?

2 ST S TTE T AFUT 7 : 3 & AT IR FTE BT U 7 2 9 B1 T gT e o MR hT Sthet 154 .72 3, At uget dot oY s (3.4, F) amm g
Options:

1) 6v2

2) 6v3

3) 7v2

4)7v3

Correct Answer: 7v3

Candidate Answer: [ NOT ANSWERED ]

QID : 154 - Kanchan bought a clock with 25% discount on marked price. She sold it with 75% gain on the price she bought. What was her profit percentage on the
marked price?

e Ueh TS1 Sifchd e TR 25% I PE TR WG &1 T8 I @RI T8 HhiAd W 75% & a1 TR 9l §1 3ifehd e IR 38wt ar+ Hicrerd e am?
Options:

1) 31.25

2) 50

3) 56.25

4) 60

Correct Answer: 31.25

Candidate Answer: 31.25



QID: 155 - A, B and C received an amount of Rs 8400 and distributed among themselves in the ratio of 6 : 8 : 7 respectively. If they save in the ratioof 3:2: 4
respectively and B saves Rs 400, then what is the ratio of the expenditures of A, B and C respectively?

A, B T C &l 8400 3 UTW Bl & T I8 38 10 # SHAT: 62 8 1 7 & IJUTA A dC oid 6| IS ITehT Sl oAl SITUTd $hAST: 3 2 4 8 AT B, 400 3 ST 8, A1 5hALT: A, B dU1 C dh ey
T ST T &7

Options:

1)6:8:7

2)8:6:7

3)9:14:10

4)12:7:9

Correct Answer: 9:14:10

Candidate Answer: [ NOT ANSWERED ]

QID : 156 - The average age of 24 students is 12 years. It was observed that while calculating the average age, the age of a student was taken as 14 years instead of 8
years. What will be the correct average age (in years)?

24 BT T S 3G 12 aN &1 T8 @1 74T ¢ 36 S 1y & SHieher o GHY Goh ©TF i 1Y 8 T &l 5118 14 a9 ot 715 off | Tal sfiera oy (awt #) ==m gft?
Options:

1)11.25

2)11.5

3)11.75

4)12.25

Correct Answer: 11.75

Candidate Answer: 11.5

QID : 157 - 70% of the cost price of a article is equal to the 40% of its selling price. What is the profit or loss percentage?

ek I & ohd el &1 70% I8 [Iehd Jed o 40% S SRISR & | AT AT g1 oAl Ufderd T &2
Options:

1) 63% loss

63% g1

2) 70% loss

70% g

3) 75% profit

75% a9

4) 80% profit

80% =Ty

Correct Answer: 75% profit
75% 19

Candidate Answer: 75% profit
75% a9

QID:158-a%of b+b% ofa=

bara%+a®b% =
Options:

1) 2a% of b

b &1 2a%

2) 2a% of 2b

2b &1 2a%

3) 2a% of 2a

2a @1 2a%

4) 2b% of 2b

2b &1 2b%

Correct Answer: 2a% of b
b &1 2a%

Candidate Answer: [ NOT ANSWERED ]

QID : 159 - If | walk at 7/6 of my usual speed, then | reach my office 15 minutes early. What is the usual time taken (in minutes) by me to reach the office?

g & st g fa & 7/6 6 1S & Tl €AY 310 gieR 15 e Siedl ugTan g1 # auwrR uge & e e wwy (e #) dar €2
Options:

1) 60

2)75

3)90

4) 105

Correct Answer: 105

Candidate Answer: 105

QID : 160 - A person lent Rs 10000 to B for 3 years and Rs 6000 to C for 4 years on simple interest at same rate of interest and received Rs 5400 in all from both of
them as interest. What is the rate of interest (in %)?

ek Afh B Y 3 I8t o forg 10000 ¥ T C Y 4 it & fig 6000 & THT &R TR FTLRUT SATST IR IYR aT & TUT 4T d FeT 5400 T TS oh ©U H TT el 2| TS hl &R (% H)
&7

Options:

1) 10

2)12.5

3)15

4)20

Correct Answer: 10

Candidate Answer: 10



QID : 161 - If x3 + 2x2 - 5x + k is divisible by x + 1, then what is the value of k?

e x3 + 2x2 - 5x + k, x + 1 & fafSia gar &, it k a1 71 i 82
Options:

-6

2)-1

3)0

4)6

Correct Answer: - 6

Candidate Answer: - 6

QID : 162 - If 3x + [1/(5x)] = 7, then what is the value of 5x/(1 5x2 + 15x + 1)?

e 3x + [1/(5x)] = 7, d 5x/(15%2 + 15x + 1) o1 71 &1 g2
Options:

1)1/5

2)1/10

3)2/5

4)10

Correct Answer: 1/10

Candidate Answer: 1/10

QID : 163 - If x + [1/(4X)] = 5/2, then what is the value of (64x5 + 1)/8x3?

afE x + [1/(4x)] = 5/2, a (64x® + 1)/8x3 &1 71 & givmm?

Options:
1) 110
2) 115
3) 125
4) 140

Correct Answer: 110
Candidate Answer: [ NOT ANSWERED |

QID : 164 - If x2 + x = 19, then what is the value of (x + 5)2 + [1/(x + 5)4]?

afe x2 +x = 19, @ (x + 5)2 + [1/(x + 5)2] a1 AT a1 g2
Options:

Correct Answer: 79
Candidate Answer: [ NOT ANSWERED ]

QID : 165 - In triangle ABC, AD, BE and CF are the medians intersecting at point G and area of triangle ABC is 156 cmZ. What is the area (in cm?2) of triangle FGE?

f3gsT ABC & mifeiehTd AD, BE 37R CF fiig G R ufedbe eheelt € T f39sT ABC T @ithet 156 A.#1.2 &1 Brsget FGE o1 &ther (9.71.2 #) o &2
Options:

1)13

2) 26

3)39

4)52

Correct Answer: 13

Candidate Answer: 39

QID : 166 - In triangle ABC, ZABC = 15° .D is a point on BC such that AD = BD. What is the measure of ZADC (in degrees)?

%S ABC 5, ZABC = 15° §1 BC R Ua faig D 39 UehR & foh AD = BD §1 £ADC &1 71 (fetht ) foramm &2
Options:

1)15

2) 30

3) 45

4) 60

Correct Answer: 30

Candidate Answer: 30

QID : 167 - The length of diagonal of a square is 9v2 cm. The square is reshaped to form a triangle. What is the area (in cm?) of largest incircle that can be formed
in that triangle?

Teh anf o frehof &t orvarg 9v2 .7t &1 59 v bl G: SR ke ST 1T SITelT &1 39 ST & e o1 Siel: g ot Sthet (3712 H) r 82
Options:

1) 61

2) 9n

3) 12n

4) 151

Correct Answer: 121

Candidate Answer: [ NOT ANSWERED |



QID : 168 - The length of the common chord of two intersecting circles is 12 cm. If the diameters of the circles are 15 cm and 13 cm, then what is the distance (in cm)
between their centers?
3 nfiedeeh gl & AT STiaT Y owarg 12 |, §1 3 gl ol aame 15 Q.. qor 13 J.4. 8, aY I dhal o ot g & g (R4, ) fewat 87

Options:

1)7/2

2)7

3) 7v2

4)14

Correct Answer: 7

Candidate Answer: [ NOT ANSWERED |

QID : 169 - What is the simplified value of sec? 6 - sec? 6 tan? 9?

sec* 6 — sec? 6 tan? 6 ol WReflchd HIF T 87
Options:
1) cosec? 8

2) sec? 9
3)cot? 6

4) secBtan @
Correct Answer: sec? 6
Candidate Answer: sec? 6

QID : 170 - What is the simplified value of (sin A — cosec A)(sec A — cos A) (tan A + cot A)?

(sin A — cosec A)(sec A — cos A) (tan A + cot A) &I T=elicpd H1H T 87
Options:

1)1

2)-1

3)0

4)2
Correct Answer: — 1
Candidate Answer: — 1

QID : 171 - If (1/cos 6) — (1/cot 8) = 1/P, then what is the value of cos 6?

afe (1/cos 8) — (1/cot B) = 1/P, aY cos 6 T | T EM?
Options:

NP+1)/(P-1)

2) (P2 +1)/2P

3) 2(PZ+1)/P

4) 2P/(P% +1)

Correct Answer: 2P/(P2 + 1)

Candidate Answer: [ NOT ANSWERED ]



QID:172-

The table given below represents the production and sales of wheat in 4 different
countries A, B, Cand D over a period of 4 years. At the end of year 2010 A, B, C
and D had a stock of 5200, 3500, 7835 and 1956 (in ‘000 quintals) of wheat

respectively. For any given year, the stock of wheat is calculated as:

Stock of year (n + 1) = stock at end of year (n) + production in year (n + 1) —sales

inyear(n+ 1)
And, Surplus of year (n7) = production in year (n) —sales in year (1)

oS atm F4aut Hraa s w4 R_ffia eaf A B, CawrD &

Ul o2 fahr vt gRiam = £ a¥ 2010 & 39 F #R: A B, Cam D &

U 9% @1 5200, 3500, 7835 TAUT 1956 (000 fFdeer ) HUSK &l fGU 1w Tondll
ad 3 A & AUSR T AU @ b forw

¥ (n+ 1)@ HUSR = a4 (n) & 3id & HUSR + a4 (n + 1) P ScUGH —

au (n+ 1) Fr T&Ehr
AT, ay (n) @ 3T = ai (n) @ Scued —ay (n) Fr fahr

Wheat production and sales (in ‘000 quintals)
A% @l 3cuiga 3R B (000 fdea )

Year Country A Country B Country C Country D
ay eUA e B axre aAD

Prod. |Sales | Prod. | Sales| Prod. |Sales| Prod. | Sales

3cuice | T | 3cuige | bt | 3cuiee | fashy | scuige | fasht
2011 1218 | 1413 1881 1798 | 2035 | 2247 | 3126 | 2417
2012 | 15b4 | 1783 | 2067 | 2389 | 1821 2018 | 2987 | 2911
2013 | 1671 1641 1328 | 2063 | 1937 | 2563 | 2143 | 3188
2014 | 1103 | 1002 1578 1239 | 3014 | 2988 [ 4126 | 3563

What is the surplus (in ‘000 quintals) of country A of years 2013 and 2014 taken together?

321 A 1 @ 2013 T 2014 1 T A/ (‘000 forfea H) fonamm &2

Options:
1) 122

2) 131
3)143

4)158

Correct Answer: 131
Candidate Answer: 131




QID:173-

The table given below represents the production and sales of wheat in 4 different
countries A, B, Cand D over a period of 4 years. At the end of year 2010 A, B, C
and D had a stock of 5200, 3500, 7835 and 1956 (in ‘000 quintals) of wheat

respectively. For any given year, the stock of wheat is calculated as:

Stock of year (n + 1) = stock at end of year (n) + production in year (n + 1) —sales

inyear(n+ 1)
And, Surplus of year (n7) = production in year (n) —sales in year (1)

oS atm F4aut Hraa s w4 R_ffia eaf A B, CawrD &

Ul o2 fahr vt gRiam = £ a¥ 2010 & 39 F #R: A B, Cam D &

U 9% @1 5200, 3500, 7835 TAUT 1956 (000 fFdeer ) HUSK &l fGU 1w Tondll
ad 3 A & AUSR T AU @ b forw

¥ (n+ 1)@ HUSR = a4 (n) & 3id & HUSR + a4 (n + 1) P ScUGH —

au (n+ 1) Fr T&Ehr
AT, ay (n) @ 3T = ai (n) @ Scued —ay (n) Fr fahr

Wheat production and sales (in ‘000 quintals)
A% @l 3cuiga 3R B (000 fdea )

Year Country A Country B Country C Country D
ay eUA e B axre aAD

Prod. |Sales | Prod. | Sales| Prod. |Sales| Prod. | Sales

3cuice | T | 3cuige | bt | 3cuiee | fashy | scuige | fasht
2011 1218 | 1413 1881 1798 | 2035 | 2247 | 3126 | 2417
2012 | 15b4 | 1783 | 2067 | 2389 | 1821 2018 | 2987 | 2911
2013 | 1671 1641 1328 | 2063 | 1937 | 2563 | 2143 | 3188
2014 | 1103 | 1002 1578 1239 | 3014 | 2988 [ 4126 | 3563

What is the stock (in '000 quintals) of country C at end of the 4 year period?

321 C 1 4 9 &Y 31afd & ofd H WUSR (‘000 ferie ) foramm &2

Options:
1) 5926

2) 6213
3) 6826

4) 8844

Correct Answer: 6826
Candidate Answer: [ NOT ANSWERED |




QID: 174-
The table given below represents the production and sales of wheat in 4 different
countries A, B, Cand D over a period of 4 years. At the end of year 2010 A, B, C
and D had a stock of 5200, 3500, 7835 and 1956 (in ‘000 quintals) of wheat
respectively. For any given year, the stock of wheat is calculated as:

Stock of year (n + 1) = stock at end of year (n) + production in year (n + 1) —sales
inyear(n+ 1)
And, Surplus of year (n7) = production in year (n) —sales in year (1)

o B atm F4aut Hrao s w4 R_ffca eaf A B, CawrD &
Ul o2 fahr vt gRiam = £ a¥ 2010 & 39 F #R: A B, Cam D &
U 9% @1 5200, 3500, 7835 TAUT 1956 (000 fFdeer ) HUSK &l fGU 1w Tondll
ad 3 g b HUSR &I AT X @ o

¥ (n+ 1)@ HUSR = a4 (n) & 3id & HUSR + a4 (n + 1) P ScUGH —

au (n+ 1) Fr T&Ehr

AT, ay (n) @ 3T = ai (n) @ Scued —ay (n) Fr fahr

Wheat production and sales (in ‘000 quintals)
A% @l 3cuiga 3R B (000 fdea )

Year Country A Country B Country C Country D
ay eUA e B axre aAD
Prod. |Sales | Prod. | Sales| Prod. |Sales| Prod. | Sales

3cuige | Tl | 3cuiger | Tdsht | 3cuige | fashr | Scuige | fashr

2011 1218 | 1413 1881 1798 | 2035 | 2247 | 3126 | 2417

2012 | 15b4 | 1783 | 2067 | 2389 | 1821 2018 | 2987 | 2911

2013 | 1671 1641 1328 | 2063 | 1937 | 2563 | 2143 | 3188
2014| 1103 | 1002 | 1578 | 1239 | 3014 | 2988 | 4126 | 3563

What is the difference (in '000 quintals) in average production and average sales respectively of country C in the given four years?

g 7g 4 aut F 31 C Y hHT: 3T IadTe qUT Sied farsht & @ siaR (1000 fariee H) 82

Options:
1) - 252.25

2) - 415.50
3)350.75

4) 275.25
Correct Answer: — 252.25
Candidate Answer: [ NOT ANSWERED |



QID: 175-

The table given below represents the production and sales of wheat in 4 different
countries A, B, Cand D over a period of 4 years. At the end of year 2010 A, B, C
and D had a stock of 5200, 3500, 7835 and 1956 (in ‘000 quintals) of wheat
respectively. For any given year, the stock of wheat is calculated as:

Stock of year (n + 1) = stock at end of year (n) + production in year (n + 1) —sales
inyear(n+ 1)

And, Surplus of year (n7) = production in year (n) —sales in year (1)

o B atm F4aut Hrao s w4 R_ffca eaf A B, CawrD &
Ul o2 fahr vt gRiam = £ a¥ 2010 & 39 F #R: A B, Cam D &
U 9% @1 5200, 3500, 7835 TAUT 1956 (000 fFdeer ) HUSK &l fGU 1w Tondll
ad 3 g b HUSR &I AT X @ o

¥ (n+ 1)@ HUSR = a4 (n) & 3id & HUSR + a4 (n + 1) P ScUGH —

au (n+ 1) Fr T&Ehr

AT, ay (n) @ 3T = ai (n) @ Scued —ay (n) Fr fahr

Wheat production and sales (in ‘000 quintals)
A% @l 3cuiga 3R B (000 fdea )

Year Country A Country B Country C Country D
ay eUA e B axre aAD
Prod. |Sales | Prod. | Sales| Prod. |Sales| Prod. | Sales

3cuige | Tl | 3cuiger | Tdsht | 3cuige | fashr | Scuige | fashr

2011 1218 | 1413 1881 1798 | 2035 | 2247 | 3126 | 2417

2012 | 15b4 | 1783 | 2067 | 2389 | 1821 2018 | 2987 | 2911

2013 | 1671 1641 1328 | 2063 | 1937 | 2563 | 2143 | 3188
2014| 1103 | 1002 | 1578 | 1239 | 3014 | 2988 | 4126 | 3563

What can be said about total surplus of country B and country D over the 4 years?

1B qUT 321 D & 4 a9 i 3rafd & et SN & IR # T gl ST FehdT 62

Options:
1) Surplus of B = Surplus of D
B 1 SIS = D a1 SrfdRiy

2) Surplus of D > Surplus of B
D &1 ALY > B &1 3rfAgy

3) Surplus of B > Surplus of D
B &1 A9 > D 1 Ay

4) No relation is there
¢ Taiy e &
Correct Answer: Surplus of D > Surplus of B

D &1 Ay > B A7 SrfdRiy
Candidate Answer: [ NOT ANSWERED ]

QID : 176 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option. If
a sentence is free from error, select 'No error'.

Inspite of the doctor's stern warning (1)/ Latika continued taking (2)/ sugars in her milk. (3)/ No Error (4)
Options:

1)1

2)2

3)3

44

Correct Answer: 3

Candidate Answer: 3

QID : 177 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option. If
a sentence is free from error, select 'No error'.

Myself and Roshni (1)/ will take care of (2)/ the event on Sunday. (3)/ No Error (4)
Options:

1)1

2)2

3)3

44

Correct Answer: 1

Candidate Answer: 1

QID : 178 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate it
by selecting the appropriate option.

the rain stopped, the concert had to be suspended.



Options:

1) Until

2) Unless

3) Till

4) while

Correct Answer: Until
Candidate Answer: Until

QID : 179 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate it
by selecting the appropriate option.

The elephant stampeded and tore _____ the streets.
Options:

1) on

2) out

3) off

4) down

Correct Answer: down
Candidate Answer: down

QID : 180 - In the following question, out of the four alternatives, select the word similar in meaning to the word given.

Scuttle
Options:

1) Solitary

2) Superficial
3) Soothing
4) Brazier

Correct Answer: Brazier
Candidate Answer: [ NOT ANSWERED ]

QID : 181 - In the following question, out of the four alternatives, select the word similar in meaning to the word given.

Loquacious
Options:

1) Talkative

2) Foolishness
3) Graceful

4) Entertainer

Correct Answer: Talkative
Candidate Answer: Talkative

QID : 182 - In the following question, out of the four alternatives, select the word opposite in meaning to the word given.

Obfuscate

Options:

1) Envelop

2) Puzzle

3) Haze

4) Clarify

Correct Answer: Clarify

Candidate Answer: [ NOT ANSWERED ]

QID : 183 - In the following question, out of the four alternatives, select the word opposite in meaning to the word given.

Triumph

Options:

1) Establish

2) Sorrow

3) Disdain

4) Elation

Correct Answer: Sorrow

Candidate Answer: Elation

QID : 184 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/Phrase.

Chicken-hearted
Options:

1) Coward

2) Short tempered

3) Composed

4) Bold

Correct Answer: Coward

Candidate Answer: Coward

QID : 185 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/Phrase.

Red letter day

Options:

1) Starting day

2) Holiday

3) Significant day

4) Ending day

Correct Answer: Significant day



Candidate Answer: Significant day

QID : 186 - Improve the bracketed part of the sentence.

He jumped off the train while it (had been running).
Options:

1) has been running

2) ran

3) was running

4) No improvement

Correct Answer: was running

Candidate Answer: was running

QID : 187 - Improve the bracketed part of the sentence.

| (didn't see) him since we met two years ago.
Options:

1) am not seeing

2) have not seen

3) had not seen

4) No improvement

Correct Answer: have not seen

Candidate Answer: had not seen

QID : 188 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the phrase.

One who is new to a profession
Options:

1) Nuance

2) Pun

3) Tyro

4) Vandal

Correct Answer: Tyro

Candidate Answer: Tyro

QID : 189 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the phrase.

A speech or a presentation made without previous preparation.
Options:

1) Euphemism

2) Obituary

3) Extempore

4) Soliloquy

Correct Answer: Extempore

Candidate Answer: Extempore

QID : 190 - In the following question, four words are given out of which one word is incorrectly spelt. Find the incorrectly spelt word.
Options:

1) Millionaire

2) Omission

3) Foreign

4) Proprietry

Correct Answer: Proprietry

Candidate Answer: Millionaire

QID : 191 - In the following question, four words are given out of which one word is incorrectly spelt. Find the incorrectly spelt word.
Options:

1) Acquaintence

2) Appeasement

3) Abnormality

4) Accentuate

Correct Answer: Acquaintence
Candidate Answer: Acquaintence

QID : 192 - The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a coherent
paragraph.

P: And the victims are likely to be the poorest of the poor as well as the very sources of water- rivers, wetlands and aquifers.
Q: In India, water conflicts are likely to worsen before they begin to be resolved.

R: Till then they pose a significant threat to economic growth, security and health of the ecosystem.

S: Water is radically altering and affecting political boundaries all over world, between as well as within countries.
Options:

1) SQPR

2) PRQS

3) QRPS

4) PSQR

Correct Answer: SQPR

Candidate Answer: SQPR



QID : 193 - The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a coherent
paragraph.

P: For one, very few entrepreneurs are willing to take on a new outsource, unless it comes with a guarantee of a certain level of sales.
Q: This invariably acts as an incentive for outsources to be lax in developing the business.

R: Despite being the dominant partner in the relationship, the outsourcer doesn't always have all the advantages.

S: The trade refers to it as the minimum guarantee clause, which means that if a outsourcee is unable to reach an anticipated sales level, he will be compensated for
the balance amount.

Options:

1) PRQS

2) SPQR

3) QSPR

4) RPSQ

Correct Answer: RPSQ

Candidate Answer: PRQS

QID : 194 - In the following question, a sentence has been given in Active/Passive voice. Out of four alternatives suggested, select the one which best expresses the
same sentence in Passive/Active voice.

Somebody told me that there had been a robbery in the jewellery exhibition.
Options:

1) | was informed that there was a robbery in the jewellery exhibition.

2) | was told by somebody that there has been a robbery in the jewellery exhibition.
3) | was told by somebody about a robbery in the jewellery exhibition.

4) | was told about a robbery in the jewellery exhibition.

Correct Answer: | was told by somebody that there has been a robbery in the jewellery exhibition.
Candidate Answer: | was told by somebody that there has been a robbery in the jewellery exhibition.

QID : 195 - In the following question, a sentence has been given in Direct/Indirect speech. Out of the four alternatives suggested, select the one which best expresses
the same sentence in Indirect/Direct speech.

Rohan said, "Where shall | be this time next month"

Options:

1) Rohan contemplated where shall he be that time the following month.
2) Rohan asked that where should be that time next month.

3) Rohan wondered where he should be that time the next month.

4) Rohan wondered where he would be that time the following month.

Correct Answer: Rohan wondered where he would be that time the following month.
Candidate Answer: Rohan wondered where he would be that time the following month.

QID : 196 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four
alternatives.

The modes of action are in science and religion. Science relies on experiment, whereas religion is based on experience. Any religious whether it is Christ's
or Ramakrishna'’s is personal and . Science, on the other hand is marked by objectivity. Theory has to be corroborated by proof providing material
comforts. The frontiers of science do not end in knowledge but are to the formation of appliances for actual use.

The modes of action are in science and religion.
Options:

1) similar

2) different

3) equal

4) relevant

Correct Answer: different

Candidate Answer: relevant

QID : 197 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four
alternatives.

The modes of action are in science and religion. Science relies on experiment, whereas religion is based on experience. Any religious whether it is Christ's
or Ramakrishna'’s is personal and . Science, on the other hand is marked by objectivity. Theory has to be corroborated by proof providing material
comforts. The frontiers of science do not end in knowledge but are to the formation of appliances for actual use.

whereas religion is based on experience. Any religious whether
Options:

1) experience

2) thought

3) festival

4) activity

Correct Answer: experience

Candidate Answer: experience

QID : 198 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four
alternatives.

The modes of action are in science and religion. Science relies on experiment, whereas religion is based on experience. Any religious whether it is Christ’s
or Ramakrishna'’s is personal and . Science, on the other hand is marked by objectivity. Theory has to be corroborated by proof providing material
comforts. The frontiers of science do not end in knowledge but are to the formation of appliances for actual use.

it is Christ's or Ramakrishna's is personal and .
Options:

1) significant

2) irrelevant

3) subjective

4) objective

Correct Answer: subjective



Candidate Answer: subjective

QID : 199 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four
alternatives.

The modes of action are in science and religion. Science relies on experiment, whereas religion is based on experience. Any religious whether it is Christ’s
or Ramakrishna'’s is personal and . Science, on the other hand is marked by objectivity. Theory has to be corroborated by proof providing material
comforts. The frontiers of science do not end in knowledge but are to the formation of appliances for actual use.

Theory has to be corroborated by proof providing material comforts.
Options:

1) intangible

2) transparent

3) tangible

4) unique

Correct Answer: tangible

Candidate Answer: tangible

QID : 200 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four
alternatives.

The modes of action are in science and religion. Science relies on experiment, whereas religion is based on experience. Any religious whether it is Christ’s
or Ramakrishna’s is personal and . Science, on the other hand is marked by objectivity. Theory has to be corroborated by proof providing material
comforts. The frontiers of science do not end in knowledge but are to the formation of appliances for actual use.

The frontiers of science do not end in knowledge but are to the formation of appliances for actual use.
Options:

1) implied

2) associated

3) designated

4) extended

Correct Answer: extended

Candidate Answer: extended



